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[El—sSolve Block Examples

Square plate inertia moment

4 4
IX :=125 cm Iy :=45 cm
3 3
h-b =1 h 'b=I
3 X 3 Y
h~1cm b~=1cm
S:=nsol(0)

Momentum conservation

m,:=10 kg m,:=5Kkg
vil::20§ vi2::_12§
Ve, =7 v,, ::5§
My - Vig 0y Vip =My -V + 1
Vfl’:1’§
v, :==nsol(0)

Conic and line intersection
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h:=S5 =5cm
b:=S =3cm
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10kg 4
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Parametrized solution
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2 2
Ci=7.-X +42.Xx.y—-2.y +4.x
r:=2.x-3.y+4

2 0 2

A:=S(-1)=[-0.9309 0.7127 ]

B:=5(1)=[0.513 1.6754]

Boyle's Law ) Presién sobre el
Presién Ol gasP, + h=2P,
atmosférica, P, / ) :

d: =1 mm g

h:=4m

p2 —1 atm : TuboenJ

9
=998.3 =
i L
- "
pl —p2 +p ge'h
3 ;
v =£-n- d Mercurio |
173 2

p;:=5_=1.3865atm

plzlatm 1
3 3 3
Vlzlmm szlmm VZ::S =0.5236 mm
2
S:=nsol(0) V,:=5 _=0.726 mm
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Frictionless Bernoulli . £ il
g9
=1120 =
° L
p; =4 atm p,:=3 atm
I m
V, =6 = V,: =8 —
1 S » -
Zl =0.1m 22 =7
| z,=7.8976m
2 2
Py 4 b, v,
— +9,-2; + =—+4+qg_-2,+
© e 2 o e 2 Clear [pl]zl
Z,=1lm
z, = nsol (0)
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